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ECE 2300 — Circuit Analysis — Spring 2000, Section # 02223
Quiz# 1
Wednesday, February 9, 2000

DO NOT OPEN THIS QUIZ BOOKLET UNTIL INSTRUCTED TO DO SO

This quiz has five pages, including this cover page. If you are missing any
page, raise your hand. To complete the quiz you have 25 minutes.

Notes:

1.
2.

3.

e

Be sure that your name, ID number and the signature appear above.

The quiz is closed books and notes!!!

You may use any calculator you chooese.

Along with solving the problem, to receive full credit you must:

a) Show all work needed for solution;

b) Clearly indicate your answer (for example, by enclosing it in a box);

¢) Define all variables and parameters, and label them on the circuit diagram;

d) Show all units explicitly, in intermediate numerical results as well as in final solutions;
€} Use the proper notations for all quantities.

Do not use red ink.

Keep in mind that most of the credit for the problem will be given for showing the correct
methods or equations.

This quiz has one problem, and the total number of points is 100.
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For the circuit shown in the figure that follows, calculate the power delivered to the circuit by the
dependent current source iy, and by the dependent voltage source vy .

For solution, use the Ohm’s and Kirchhoff’s laws.

**********************************ﬁ**********************************************ﬁ**

#) In fhe ciroaut are def'ned e ferminal veltages
",VU; omd ",\ﬂ;) 'H]e Mfmiﬂt .,4;3”) ahd 7%€ nad{ @

(see #he f‘jmf). |
#) Then the léi‘vvh/mﬁl’: W/M% /Mz 4/}9/:% 4o the
closed Pav‘h dfﬁnw/ by Re and R3 !

=0 . o
+) '9;‘%’-%( Ohm's lam ap,b//ao{ do R2 and RY, the

lact Q?Ma/)'an heogmes:




[image: image3.png]ECE 2300 — Circuit Analysis — Spring 2000, Section # 02223, Quiz #1

************* ******************************************************ﬁ****************

Ryds - Rez =9, fhatis, 8o4y-0tz20 1)
) The Kivohhaff's oument lan apphied Jo nob®:
Ayt =0, thatis , derdys-10 [2)
1) soling (1) and (2), 1} resvls:
ip=-~8/A], Ay=-2/h)
%) Then g = 2543 = 25%(-2)z - 50NV,
) The Warehbaff's volfage lam apphied ¥ the
(Rezre) clord path:
”ﬂq-f-'&ja =0 }ha#r?, Jy
* Ten 45250 = 5x503 250/A].

‘lbdefine the power delivered by fhe de/)endgnf
souras, the lerminal W/v‘aje 0,[ cument sodret fW/
e oument o][ the va/v‘szfe SOUred myst be a/e’ﬁneﬂ’.

%) Are de/a‘ned ferminal W/:‘afzj "W mr‘nnk Uy
Wy, and nodes @ and @ (e Hhe figHr).

g - ()= 50|

[

% and




[image: image4.png]************************************************************************************

************************************************************************************
.




[image: image5.png]-4-

******************************************************************************t*****

ECE 2300 — Circuit Analysis — Spring 2000, Section # 02223, Quiz # 1

**********i*************************************************************************

%) The pouer delivered 10 te orom? éf the v‘{f/tﬂdﬁﬂ‘
voHage soure!

'fW(by s = ’t”\fa&y = [-50)x9= -‘/W/W/i




